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ENGLISH VERSION

1 Give the answer (Any one) 14

(1) What is Migration ? Explain the Temporary and Internal

Migration?
(2) EKxplain the affecting factors of migration.

(3) What is urbanization ? Explain its problems.

2 (A) Give the answer (Any one) 10
(1) Explain the census methodology in India.
(2) Explain the pattern of migration in India.
(B) Give the answer (Any one) 10
(1) Explain the human development and population
problems in India
(2) What is Sex Ratio 7 Explain the reasons of inequality

sex ratio in India.
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3 (A) Give the answers : (Any Two) 10

(1) What is Family Planning ? Explain its outcome in India.
(2)  What is Women Empowerment ? Explain its importance
in family welfare.
(3)  What is maternal mortality rate ? Explain the affecting
factors of maternal mortality.
(4) Explain the family welfare programme in India.
(B) Give the answers (Any Two) 10
(1) What is Population growth rate ? Explain the reasons
of high population growth rate in India
(2) Explain the new population policy in India.
(3) Explain the steps of control the population growth rate.
(4) Explain the functions of National Population
Commission.
4 Give the one or two line answer. 6

(1) What is migration ?

(2) What is urbanization ?

(3) What is maternal mortality rate ?

(4) What is family planning ?

(5)  What is family welfare ?

(6) What is sex-ratio?

5 MCQs (Any Ten) 10

(1) When the started new Population Policy ?

(A) 2000 (B) 2001

(C) 2004 (D) 2010
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When the 15t census in India ?

(4) 2010 B 2011

(C) 2009 (D) None of above
How many sex ratio in India 20117

(A) 1000 : 1058 (B) 1000 : 933

(C) 1000 : 940 (D) None of these
The new name of family planning ?

(A) size of family (B) Strength of family
(C) family welfare (D) None of above
Who is chairman of Population Commission in India?
(A) Prime Minister (B) President

(C) Both (D) None of the above
How many population in mega city in India ?

(A) 10 Lacs (B) 50 Lacs

(C) 20 Lacs (D 1 Crore

The affecting factor of fertility rate —

(A) Education (B) Profession

(C) Income D) All

The reason of increasing of urbanization

(A) Increasing facilities in urban area

(B) Industialization

(C) Education

D) All
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(99 The urban population in 2011 in India —
(A 23 % (B) 25 %
(©) 31 % (D) None of these
(10) The population density in India of 2011 —
(A) 282 (B) 382
(© 182 (D) 482
(11) The role of population in economic development —
(A) Labour supply
(B) Increasing production
(C) Human capital formation
Dy All
(12) Which is the affecting factor of Environment ?

(A) Industrialization (B) Urbanization

(C) Technology D) All
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